Number Skills for Business

Course Work Assignment – Printers

Part 1

Three of your friends from University have graduated and decided to start a Business Support Agency called; “Small Business Solutions”

They have invited you to help them with the purchase of a suitable printer as you now work for a local IT product Supply Company.

They would like you to investigate the best deal for them based on cost per printed page. This task will require you to identify printers in three different price brackets, low (less than £50), medium (above £50 but no more than £100) and high (above £100). 

(T he following website may help in locating suitable printers:

http://www.computeractive.co.uk/hardware/inkjet-printers)

In the calculation of running cost include the cost of printer cartridges and printer but not paper or electricity. Decide upon a realistic printed output for one year of use and base your calculations on this figure. To assist in the calculation of cost visit the website:

http://www.bizrate.com/inktoner_inkjetcartridges/
To obtain prices/page yield of ink/toner cartridges

(Note you will have to construct a currency conversion graph for dollars to pounds, attach as an appendix in your final report.)

Write a report presenting your findings and recommendations. Use graphs and tables to express your results.  The recommendations must be based on realistic values and in your investigation consider the following issues:

i. comparisons between printers

ii. Breakeven points

iii. Formula to calculate the cost of each printed sheet

Try to generalise your results i.e. use algebra to confirm the observations taken from your graph.

Part 2

Having completed this report you realise that not for the first time customers have asked you about the relative merits of printers and their running costs.  You decide to carry out your own research into the relationship between the price of a printer and printing cost.

To complete this task you decide to identify eight inkjet printers across the price range.  You then calculate for each printer the cost of printing 1000 A4 copies. Your results are listed below:

Printer
1
2
3
4
5
6
7
8

Cost of    33.99   49.99  59.49  89.99  120.95  159.45  194.89  212.57
Printer£

Cost of    12.58   12.35   10.65   10.40    8.20     7.20     6.45     5.49
1000 

A4 copies£

i. Draw a scatter diagram to illustrate this data.

ii. Draw the line of best fit.

iii. Briefly describe any correlation suggested by this diagram.

iv.  A new printer model costs £174.99.  Use your line of best fit to estimate the cost of printing for this model.

Try to generalise your results i.e. use algebra to confirm the observations taken from your graph.

